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Diamonds-
1.20mm, 69 pis
1.10mm, 64 pis
1.30mm, 66 pis
1.40mm, 15 pis
1.50mm, 4 pis

Diamonds Wt- 1.51Cts.
Gold Wt-17.330 Gms.



Diamonds-
1.20mm, 146 pis
1.50mm, 2 pis
1.70mm, 4 pis
1.60mm, 10 pis
1.10mm, 24 pis

Diamonds Wt- 1.32 Cts.
Gold Wt-23.000 Gms.



Diamonds-
1.20mm, 152 pis
1.30mm, 24 pis
1.50mm, 4 pis
1.40mm, 8 pis

Diamonds Wt- 1.32Cts.
Gold Wt-16.800 Gms.



Diamonds-
1.20mm, 62 pis
1.40mm, 30 pis
1.30mm, 83 pis
1.10mm, 8 pis
1.50mm, 11 pis
1.60mm, 1 pis

Diamonds Wt- 1.58Cts.
Gold Wt-17.340 Gms.



Diamonds-

1.20mm, 49 pis
1.10mm, 20 pis
1.50mm, 18 pis
1.30mm, 12 pis
1.40mm, 18 pis

Diamonds Wt- 0.93Cts.
Gold Wt-13.430 Gms.



REssail

Diamods-
1.30mm, 89 pis
1.40mm, 109 pis
1.70mm, 4 pis
1.60mm, 72 pis
1.50mm, 1 pis
1.20mm, 4 pis

Diamonds Wt-3.07 Cits.
Gold Wt-22.000 Gms.



Diamonds-
1.30mm, 100 pis
1.0mm, 111 pis
1.10mm, 15 pis

Diamonds Wt- 1.28Cts.
Gold Wt-19.000 Gms.






Diamonds-
1.30mm, 120 pis
1.40mm,13 pis

1.20mm, 60 pis

Diamonds Wt- 1.51Cts.
Gold Wt-18.820 Gms.



Diamonds-
1.30mm, 52 pis
1.50mm, 8 pis
1.10mm, 22 pis
1.20mm, 14 pis

Diamonds Wt-0.73 Cts.
Gold Wt-5.100 Gms.



Diamonds-
1.60mm, 8 pis
1.50mm, 2 pis
1.20mm, 32 pis

Diamonds Wt-0.36 Cts.
Gold Wt-5.870 Gms.



Diamonds-
1.20mm, 46 pis

Diamonds Wt-0.30 Cits.
Gold Wt-3.960 Gms.



Diamonds-
1.60mm, 2 pis
1.30mm, 4 pis
1.20mm, 24 pis
1.10mm, 8 pis

Diamonds Wt-0.26 Cits.
Gold Wt-3.580 Gms.




Diamonds-
1.20mm, 16 pis

Diamonds Wt-0.10 Cts.
Gold Wt-1.970 Gms.



Diamonds-
1.30mm, 78 pis
1.40mm, 4 pis
1.10mm, 34 pis

Diamonds Wt-0.87 Cts.
Gold Wt-8.000 Gms.



Diamonds-
1.30mm, 32 pis
1.20mm, 2 pis
1.10mm, 2 pis

Diamonds Wt-0.29 Cts.
Gold Wt-3.380 Gms.




Diamonds-
1.30mm, 30 pis

Diamonds Wt-0.25 Cits.
Gold Wt-3.760 Gms.



Diamonds-
1.40mm, 4 pis
1.20mm, 24 pis
1.30mm, 48 pis

Diamonds Wt-0.59 Cits.
Gold Wt-6.000 Gms.
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